Choose the correct answer, write your answer in the table below:

1. The quadrant for which the first coordinate is negative and the second coordinate is positive is:

a) IV b) III ()1 d) I

2. The translation of “20 less than d” is:

a) 20+d f{) d-20 ¢) 20—d d) 20d

1]
3. The value of the expression (—%] is equal to;

3 -1 b) 0 0 -3 F

4. Suppose 3y — 2 = 2x.Wheny=4,the valueof x is:

A5 b) -5 ¢) -1 d) 6



. The equation of the line containing the point (2.-1) and parallel to the line y = =3x + 2 is

a) y=3x-5 b)y=§+§ g')/y=—3x+5 d)y=—§—+§
. The product of the slopes of two perpendicular lines is:

a) 0 » -1 ¢) 1 d) 2
. The solution of 6x —7 = —=3x + 20 is:

a3 b} ~9 ¢) -3 d) 9
. The inequality —x <5 is equivalent to:

2) 2x < 5 b) 2x < —10 ¢) 2x > 5 g 2x > —10

. The greatest common factor (GCF) of 2y* and 4xy is:

of 2y b) 4y ¢) 2xy d) 4xy




10. The coordinates of the y-intercept of the line y = —2x + 3 are:

a) (0,-2) » o (03) ¢) (3,0 d) (-2,0)

11. The factorization of the polynomial x(x-3)-2(x-3) is:

a) (x*-2)(x-3) b) (x+2)(x-3) o (x-2)(x-3) d) (x*+2)(x-3)

12. The set of numbers for which the rational expression W=2)xd is not defined is:
(x+4)(x+3)
2 {(43) b)  ({-2.5) 0 {2,-5) A (=4,-3)
13. The domain of the function f(x)=vx+2 is:
a) {x\ x is a real number and x # -2} ,bd/ {x‘ x 18 a real number and x 2 —2}

c) {x | x is a real number and x # U} d) {xi x 1s a real number and x # 2}




14, The value of V27x3is

?’r R b) HWx c) -3t d) -9x
15, The factorization of x° -25 is:

) (-5 B (e-5)+5) o) (x- 25 d) (x4 25)(x-25
16, The result of (3x = 2)* is:

2) ¢ -4 b) 9 - 61 + 4 O -6xtd g HP-12+d



17. Which of the following correspondences IS NOT a function?

2) b)
2 N 2
3 -

4 Q b



18.1f f(x) = vx3 + 2x = 3, then £(2) is equal to:

a) V3 ){3 ¢) 9 d) 8
19. The result of E—ﬁ IS :
y X
. " 2., 4y -
) 2x-4 b 25-4 /(2)( 4y ) X=)
Xt+) Xy Xy Xy

20. The result of (2xy*)? is::
a) Bx8y® b) 8xby° ) 8x’y°

/n 8x6y9



Question 2:( 4 points)
1. Multiply: (x + V3)(x—+V3)
7’\ + VAR 3 R - ()

1

=5



2. Perform and 81mp11fy . s B
(x—1)(x+6)

Zv‘/g (X-\) (/\4/)
/\/( N Q/()}/’%

X = |
4 I

Z.

\\



. x—1=+vx+5



2. ¥*=x+2=0 =z "







Question 4: (4 points)

Solve the following inequalities and writ

l. 2x—8< —-3x+2

Iy 43X < 218
5% < \O

X <%
(/OU)?,)






Question 5: (8 points)

1. Graphthelinesy=x+3andy = —-x+ 3, and
then, shadethe solutions of the system

y<x+33 (0) 3)) ("3/0)
> —x + (0)3))(3)0)

< X4 3
\Z<o43\/3"

(o)o/ an
- XK
y> ,\—; 7&
o 7

o
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2. Solve the following system of equations:

x+y=8 ‘_“"C\/\'
{2x—y=7 — @)



